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Systematic indications for seminar classes on the topic № 60: Conclusive lesson on theoretic knowledges and practical skills on splanchnology
Motivational characteristic of the topic:

On the basis of material of practical, out-class independent work and lecture course to fasten the got knowledge and practical skills on respiratory, urinary, genital and endocrine systems. To learn to see the general lines of structure of these systems, age-dependent features, variants of development and feature depending on an executable function. To show the level of knowledge and practical skills, ability to synthesize theoretical and practical knowledge, purchased within the framework of the semantic module. A student must answer on 30 tests, arbitrarily chosen a computer from a general base (140 tests) and to pass verbal interview with demonstration on natural preparations.

Aims of the classes:

1. To show the level of knowledge, getting in times of study on respiratory, urinary, genital and endocrine systems, connecting them with the got knowledge on a locomotor system.

2. To show ability to find and demonstrate one or another internal organs on a corpse or natural preparations, combining demonstration with description of theoretical material on this organ (holotopy, skeletopy, syntopy, structure etc.).
The student must be able to:

– on dissected corpses, natural preparations to show every internal organ;

– to give an organ natural anatomic position;

– to describe holotopy organ;

– to explain with demonstration on the corpse of skeletopy and syntopy of organ;

– to tell the structure of organ with the show of basic anatomic structures on a corpse.

The student must know:

– Russian, Latin and Greek name of organs;

– anatomical concept «holotopiy of internal organ»;

– anatomical concept «skeletopy of internal organ»;

– anatomical concept «syntopy of internal organ»;

– phylo- and ontogenesis of internal organs;

– description of anatomical and histological structure of internal organ in accordance with a plan;

– anomalies and variants of development of internal organs on the systems;

– age-dependent features of structure of organs;

– interpretation of results of clinical methods of research
Task for self-control of the initial level of knowledge:

- organs of digestive system (topography, structure, functions)
- organs of respiratory system (topography, structure, functions)

- organs of urogenital system (topography, structure, functions)

- organs of immune system (topography, structure, functions)

- organs of endocrine system (topography, structure, functions)

Control questions:

1. Functions of the respiratory system.

2. The upper respiratory tracts.

3. The lower respiratory tracts.

4. The cartilages of a nose.

5. The septum of a nose and its components (bones, cartilages).

6. The common nasal meatus and its borders.

7. The superior, middle and inferior nasal conchae and the nasal meatuses bounded by them.

8. The middle nasal meatus, its borders and paranasal sinuses opened to it.

9. The superior nasal meatus, its borders and paranasal sinuses opened to it.

10. Choanae their borders and a cavity communicated through it.

11. A larynx holotopy and skeletopy.

12. The syntopy of a larynx.

13. The entrance to larynx and its borders.

14. A vestibule of the larynx and its walls.

15. The parts of larynx cavity.

16. Unpaired cartilages of a larynx.

17. Paired cartilages of a larynx.

18. The thyroid cartilage and its parts. The cricoid cartilage and its parts.

20. The ligaments of a larynx.

21. Kinds of larynx cartilages connections with examples.

22. Cricothyroid joint of a larynx and its characteristic.

23. Cricoarytenoid joint of a larynx and its characteristic.

24. The epiglottis and its parts. What are the functions of epiglottis?

25. The ligaments bridging a larynx with a trachea and a hyoid bone.

26. The trachea, its topography.

27. Layers of trachea wall.

28. Cartilaginous semirings, annular ligaments and membranous wall of a trachea.

29. Departments of a bronchial tree.

30. Right and left main bronchi and differences between them.

31. The structure of primary bronchi wall.

32. Parts, surfaces and edges of the lungs.

33. Fissures and lobes of the right lung.

34. Hiluma and root of the lungs and their basic elements.

35. Topography of basic elements in a root of the right lung.

36. Topography of basic elements in a root of the left lung.

37. The anatomical structure of the right lung.

38. The anatomical structure of the left lung.

39. The segments of the superior lobe of the right lung.

40. The segments of the middle lobe of the right lung.

41. The segments of the lower lobe of the right lung.

42. The segments of the superior lobe of the left lung.

43. The segments of the lower lobe of the left lung.

44. The acinus of the lung and elements forming it.

45. The projective lines skeletotopy of the lower border of right lung.
46. The projective lines skeletotopy the lower border of left lung.

47. The structure of pleura, its functions.

48. Topographical parts of the parietal pleura.

49. Pleural sinuses.

50. The projective lines skeletotopy of the lower border of the right pleural sac.

51. The projective lines skeletotopy of the lower border of the left pleural sac.

52. Borders of a mediastinal cavity.

53. Classification of mediastinum.

54. Bodies of the superior mediastinum.

55. Sources of respiratory system development.

56. The main anomalies of respiratory system department.

57. Modern clinical methods of respiratory system organs examination.

58. Functions of kidneys.

59. Golotopy and skeletotopy of a left kidney.

60. Golotopy and skeletotopy of a right kidney.

61. The renal bed and explain than is it formed by.

62. The generation which kidneys pass in the development, their characteristic.

63. Margins, ends and surfaces of a kidney.

64. Capsules of a kidney.

65. The fixative apparatus of a kidney.

66. Organs related to the left kidney.

67. Organs related to the right kidney.

68. Longitudinal axes of kidneys and their direction according to a vertebral column in children till 4th years old and adults.

69. Segments of a kidney.

70. The renal sinus and its contents.

71. The place of primary urine formation and mechanism of the process.

72. Places of secondary (final) urine formation and mechanism of the process.

73. Intrarenal ways of urine excretion.

74. Extrarenal ways of urine excretion.

75. Vessels of a kidney and its blood supply.

76. A structure kidneys parenchyma.

77. A structure of the nephron.

78. A miraculous arterial network of a kidney. What is it formed by?

79. The location of a juxtaglomerular complex and its function.

80. Parts of the ureter, its constrictions.

81. A ureter and tunics forming its wall.

82. Parts of a bladder.

83. A syntopy of a bladder.

84. The structure of a wall of a bladder using the specimen.

85. The triangle of a bladder and the foramens which open on its angles.

86. Superficial muscles of a urogenital diaphragm. Their function.

87. Deep muscles of a urogenital diaphragm. Their function.

88. Using the X-ray show the renal calices and renal pelvis, the ureter and its constrictions.

89. Clinical methods of urinary systems organs examination.

90. Anomalies of kidneys development.

91. Sources of development of internal male genital organs.

92. Sources of development of external male genital organs.

93. External male genital organs.

94. A scrotum – its layers.

95. Anatomical parts of a male genital system.

96. Parts and foramina of males’ urethra.

97. Narrowings and expansions of male urethra.

98. Internal male genital organs.

99. The organs participating in semen formation.

100. The internal structure of a testicle.

101. The external structure of a testicle.

102. The epididymis, its parts.

103. The spermatic cord and its components.

104. Topography and a structure of a deferent duct.

105. The prostate and its parts.

106. Prostate: what do the canal and ducts pass through it?

107. The ways of semen excretion.

108. The sources of internal female genitals development.

109. Classification of female genitals.

110. External female genitals.

111. The organs concerning to female genital region.

112. The greater and lesser pudendal labia.

113. The inlet of the vagina. What is it formed by? What are the structures open to it?

114. A clitoris, its structure.

115. Internal female genitals.

116. The anatomical structure of ovary.

117. The ovary and its ligaments.

118. The ovary, structure of the parenchyma.

119. Parts and ostiums of uterine tubes.

120. Uterine tubes, a structure of the wall.

121. Topography of the uterus.

122. The uterus, its anatomical structure.

123. The uterus, meaning of terms: anteflexio and anteversio, retroflexio and retroversio uteri.

124. Layers of a uterus wall. Their structure.

125. The ligaments of the uterus.

126. Walls and fornix of the vagina.

127. The vagina, its anatomical structure.

128. The vagina and its tunics.

129. The perineum in wide and narrow sense.

130. The areas of a perineum, their borders.

131. Fascias of a pelvic diaphragm.

132. Fascias of a urogenital diaphragm and their location.

133. Muscles of a pelvic diaphragm.

134. Clinical methods of genital system examination.

135. Anomalies of male genital organs development.

136. Anomalies of female genital organs development.

137. Phylogenetic stages of endocrine system a regulation.

138. Definition to concept “hormone”. The main functions of hormone.

139. The scheme of endocrine organs regulation.

140. The factors influencing to function of endocrine glands.

141. Anatomical-physiological characteristics of endocrine organs.

142. The general classification of glands.

143. Classification of endocrine glands according to sources of development.

144. Glands of mesodermal origin.

145. Glands of endodermal origin.

146. Glands of ectodermal origin.

147. What are the mixed glands? Give the examples.

148. The epiphysis. Its functions.

149. What is the way of hypothalamus influence to the anterior lobe of hypophysis?

150. What is hypothalamo-hypophysial tract. Where is it located?

151. What are the lobes of hypophysis and sources of their development?

152. The main hormones of anterior lobe of hypophysis. What are the target glands for the hormones?

153. What are the main hormones of posterior lobe of hypophysis? Their functions.

154. What is the portal system of hypophysis? How is it organized?

155. Topography of thyroid gland.

156. The anatomical structure of thyroid gland.

157. Basic hormones of thyroid gland, their functions.

158. What are the symptoms thyroid gland’s dysfunction (hypo-and a hyperfunction)?

159. Features of thyroid gland structure of in children’s age.

160. A source of parathyroid glands development, their amount and topography.

161. What hormones are produced in parathyroid glands. What does it regulate?

162. Topography of thymus gland.

163. An external and internal structure of thymus gland.

164. The basic functions of thymus gland.

165. The structure of the endocrine part of a pancreas.

166. Basic Hormones of a pancreas, their function.

167. Features of pancreas structure in a children’s age.

168. Topography of adrenal glands.

169. Characterize the histological structure of adrenal glands.

170. Hormones of adrenal cortex.

171. Hormones of adrenal medulla. How do they influence to physiological functions of organism?

172. Features of a structure of adrenal glands in children’s age.

173. Classification of sex hormones. Where are they formed?

174. What are two groups of sex hormones? Where are they formed?

175. What are the hormones produced in testicles?

176. What are the hormones produced in ovaries?

177. Features of sex glands structure in a children’s age.

178. Using table show the largest paraganglia. Where are they located? What are their functions?

179. Anomalies and variants of basic endocrine organs development.

180. Clinical methods of endocrine system research.

Control of knowledge with the help of situational tasks.

A patient has inflammation of sublingual papilla. From what salivary glands will the passage of saliva be disorder?

A. Sublingual and parotid.

B. Sublingual and submandibular.

C. Parotid and submandibular.

D. Parotid and palatine.

E. Sublingual and buccal.

A 35 old patient appealed with complaints on pain and edema on floor of oral cavity. After examination an inflammatory process in the region of the duct of submandibular gland was diagnosed. Where is the orifice of this duct situating?

A. Veslibulum oris.

B. Caruncula sublingualis.

C. Foramen caecum linguae.

D. Plica fimbriata.

E. Recessus gingivalis.

After the heavy trauma of a patient’s visceral skull, during the swallowing the food gets in nasal part of pharynx. Contraction of what muscle was broken?

A. M. palatoglossus.

B. M. palatopharyngeus.

C. M. stylopharyngeus.

D. M. genioglossus.

E. M. levator veli palatini.

Mother of 8 years old child appealed to doctor with complaints on pain during swallowing and high temperature. During examination a doctor saw an edema and hyperemia of lymphoid tissue between the arches of soft palate. What tonsil does situate in this place?

A. Tonsilla lingualis.

B. Tonsilla pharyngealis.

C. Tonsilla tubaria.

D. Tonsilla palatina.

E. Tonsilla nasalis.

The pregnant women 30 years old got the raised doze of radiation. Because of this, the process of intrauterine development of fetus was disordered. At formation of an oral cavity did not take a place a fusing of the lateral nasal process and maxillary process. Occurrence of what anomaly is supposed?

A. Atrezy of esophagus.

B. Cleft palate.

C. Microstoma.

D. Makrostoma.

E. Cleft lip.

During the first feeding of newborn, milk began to flow out of a nasal cavity. What anomaly or abnormally got a newborn?

A. Cleft palate.

B. Cleft lip.

C. Atrezy of esophagus.

D. Atrezy of anal canal.

E. Esophageal-tracheal fistula.

A 35 old patient appealed with complaints on pain and edema on floor of oral cavity. After examination an inflammatory process in the region of the duct of submandibular gland was diagnosed. Where is the orifice of this duct situating?

A. Veslibulum oris.

B. Caruncula sublingualis.

C. Foramen caecum linguae.

D. Plica fimbriata.

E. Recessus gingivalis.

A 28 old patient appealed with complaints on the painful feelings in the root of the tongue during swallowing. After examination a foreign body between tongue and epiglottis was visualized. In what anatomical structure does the foreign body situate?

A. Piriform recess.

B. Foramen cecum linguae.

C. Epiglottic recess.

D. Pharyngeal recess.

E. Tonsillar fossula.

During examination of a child’s mouth the dentist had found eruption of the inferior first molars. How old is the child?

A. 6-7 years.

B. 5-6 years.

C. 8-9 years.

D. 10-11 years.

E. 12-13 years.

During forensic medical examination of the anatomic formula of teeth it was determined that the corpse belongs to a child 6-8 years old. The presence of what teeth in oral cavity enabled to identify a body of died person?

A. Permanent first and second molars.

B. Deciduous premolars.

C. Permanent canines.

D. Deciduous third molars.

E. Permanent incisors.

In clinic a child 9 months old was hospitalized, at whom any tooth was not erupted yet. What are the terms of eruption of the first teeth in norm?

A. 5-6 months.

B. 6-7 months.

C. 7-8 months.

D. 10 months.

E. 3- 4 months.

After the heavy trauma of a patient’s visceral skull, during the swallowing the food gets in nasal part of pharynx. Contraction of what muscle was broken?

A. M. palatoglossus.

B. M. palatopharyngeus.

C. M. stylopharyngeus.

D. M. genioglossus.

E. M. levator veli palatini.

Mother of 8 years old child appealed to doctor with complaints on pain during swallowing and high temperature. During examination a doctor saw an edema and hyperemia of lymphoid tissue between the arches of soft palate. What tonsil does situate in this place?

A. Tonsilla lingualis.

B. Tonsilla pharyngealis.

C. Tonsilla tubaria.

D. Tonsilla palatina.

E. Tonsilla nasalis.

In patient follicle angina was complicated by severe otitis (inflammation of middle ear). What anatomical precondition does exist for this?

A. Lymphoepythelial ring of Valdeer-Pirogov.

B. Fallopian tube.

C. Anomalies of pharynx.

D. Eustachian tube.

E. Presence of piriform recess.

At children often possible to observe difficulty of nasal breathing. This is related to extra development of lymphoid tissue in pharyngeal mucous membrane. Growth of what tonsil can cause this phenomenon?

A. Tonsilla lingualis.

B. Tonsilla palatine.

C. Tonsilla pharyngea.

D. Tonsilla tubaria.

E. All of these tonsils.

At the child 8 years old, the foreign body of esophagus at the level of a 10 thoracic vertebra was revealed by X-ray. At the area of what esophageal narrowing had the foreign body stopped?

A. Abdominal narrowing.

B. Pharyngeal narrowing.

C. Bronchial narrowing.

D. Aortal narrowing.

E. Diaphragmatic narrowing.

A patient 65 years old was hospitalized with suspicion on the tumor of superior part of esophagus. But after X-ray examination a tumor process is exposed on the border of esophagus and pharynx. On level of what cervical vertebra was the tumor locate?

A. 6.

B. 5.

C. 4.

D. 3.

E. 2.

To a hospital the child was delivered with complaints to a retrosternal pain, appearing after swallowing and accompanying with cough. After X-ray research, the foreign by in thickness of a wall of esophagus at a level 5 thoracic vertebra was revealed. In the level of what narrowing of the esophagus was a damage of its wall occurred?

A. In the place of transition of pharynx to esophagus.

B. In the place of adjoining of arch of aorta.

C. In the place of passing through a diaphragm.

D. In the place of passing to the stomach.

E. In the place of crossing with the

left main bronchus.

To a hospital the child was delivered with complaints to a retrosternal pain, appearing after swallowing and accompanying with cough. After X-ray research, the foreign body in thickness of a wall of esophagus at a level 4 thoracic vertebra was revealed. In the level of what narrowing of the esophagus was a damage of its wall occurred?

A. In the place of passing through a diaphragm.

B. In the place of decussating with the left main bronchus.

C. In the place of adjoining of arch of aorta.

D. In the place of passing to the stomach.

E. In the place of transition of pharynx in esophagus.

A patient 40 years old, appealed to the doctor with complaints about frequent heartburn of esophagus. After examination insufficiency of what sphincter is exposed?

A. Esophageal.

B. Pyloric.

C. Pharyngeal.

D. Cardiac.

E. Duodenal.

A patient was hospitalized with the ulcer of esophagus. After some time the symptoms of inflammation of peritoneum appeared. In what part of esophagus the perforation happened?

A. Pharyngeal.

B. Thoracic.

C. Cervical.

D. Stomach.

E. Abdominal.

During the operation on a small intestine a doctor found out the area of mucous membrane, where on base of circular folds the longitudinal fold was present. What part of small intestine does such structure have?

A. Pars descendens duodeni.

B. Pars horizontalis duodeni.

C. Pars ascendens duodeni.

D. Initial department of jejunum.

E. Distal department of ileum.

A patient complaints on disturbance of evacuative function of stomach (the protracted delay of food in stomach). After the examination, the tumor of initial part of duodenum was detected. What is the localization of tumor?

A. Pars inferior.

B. Pars superior.

C. Pars descendens.

D. Pars ascendens.

E. Flexura duodeni inferior.

In the mucous of intestine a surgeon saw group of lymphoid follicles (Peyer’s patches). What department of intestine it is?

A. Rectum.

B. Jejunum.

C. Cecum.

D. Duodenum.

E. Ileum.

During endoscope examination of small intestine on a mucous membrane longitudinal folds were visible. Which part of intestine did a doctor see?

A. Ascending part of duodenum.

B. Horizontal part of duodenum.

C. Initial part (ampoule) of duodenum.

D. Initial part of jejunum.

E. Final part of ileum.

A patient 60 years old because of malignant tumor of papilla duodenum major had an obstructive icterus. Deleting a tumor a surgeon must remember, that on the papilla duodenum major is opened:

A. Cystic duct.

B. Common hepatic duct.

C. Hepatoduodenal ampule.

D. Right hepatic duct.

E. Left hepatic duct.

To the child 6 years old Meckel diverticle was diagnosed. In what department of gastro-intestinal tract is it necessary to search it during operation?

A. In the area of ileum.

B. In the area of jejunum.

C. In the area of colon.

D. In the area of duodenum.

E. In the area of sigmoid colon.

In patient during the fibrogastroscopy, an inflammation of duodenal bulb was found. In what part of intestine does the inflammation locate?

A. Pars ascendens.

B. Pars descendens.

C. Pars horizontalis.

D. Pars superior.

To patient the endoscopy of duodenum was provided. The examination revealed an inflammation of large duodenal papilla and disturbances of bile secretion to the intestine. In which part of duodenum the disturbances were revealed?

A. Inferior horizontal part.

B. Ascending part.

C. Bulb.

D. Superior part.

E. Descending part.

A patient complains on pain in a right iliac area. During the palpation a mobile, soft, sickly intestine was determined. What part of intestine did the doctor palpate?

A. Jejunum.

B. Sigmoid colon.

C. Transverse colon.

D. Ascending colon.

E. Cecum.

A patient complaints on pain in the superior part of umbilical area. During the palpation a mobile, soft, sickly intestine is determined. What part of intestine does the doctor palpate?

A. Transverse colon.

B. Jejunum.

C. Duodenum.

D. Ileum

E. Sigmoid.

During the operation on the strangulated umbilical hernia in a hernia sack a part of intestine was revealed with the appendixes of serous, which contain fat tissue. What part of intestine was strangulated?

A. Duodenum.

B. Transverse colon.

C. Ileum.

D. Jejunum.

E. Cecum.

A patient has acute appendicitis, which clinically is similar a hepatic colic. What position of vermiform appendix makes it possible?

A. Descending.

B. Medial.

C. Ascending.

D. Lateral.

E. Retrocecal.

A patient 18 years old got symptoms of acute appendicitis – acute pain in right lumbar area. What type of placing of appendix can be supposed?

A. Lateral.

B. Descending.

C. Ascending.

D. Medial.

E. Retrocecal retroperitoneal.

During operation on indication the bile stones a surgeon must find a common hepatic duct. Between the layers of what ligament does it situate?

A. Hepatoduodenal.

B. Hepatogastric.

C. Hepatorenal.

D. Round ligament of the liver.

E. Ligamentum venosum.

The examination revealed that a gallbladder is overfull with bile. What part of extrahepatic bile ducts is pathologically changed?

A. Left hepatic duct.

B. Cystic duct.

C. Common hepatic duct.

D. Ductus choledochus.

During the cholecystectomy (removing of a gall bladder), which performed from a fundus, concrements (bile stones) can move through wide cystic duct to the next departments of the bile ducts. What place a surgeon must check in?

A. Ductus hepaticus communis.

B. Ductus choledochus.

C. Ductus hepaticus dexter.

D. Ductus hepaticus sinister.

E. Ductulus billifer.

At the patient of 52 years old a chronic stone cholecystitis is diagnosed. At retrograde cholecystectomy a surgeon checks hepatoduodenal ligament. What elements of this ligament is it necessary to select and bandage?

A. Proper hepatic artery, duct of urinary bladder.

B. Common bile duct, common hepatic duct.

C. Proper hepatic artery, common bile duct.

D. Portal vein, artery of gallbladder.

E. Cystic duct, artery of gallbladder.

A patient has a perforation and inflammation of vermiform appendix. Revision of what recess of peritoneum must a doctor provide first?

A. Recessus ileocecalis superior.

B. Recessus duodenalis superior.

C. Recessiis duodenalis inferior.

D. Recessus retrocecalis.

E. Recessus ileocecalis inferior.

A 40 years old man was hospitalized to surgical department with a diagnosis – splenic rupture. In what anatomical formation will the blood accumulate?

A. Bursa pregastrica.

B. Bursa hepatica.

C. Bursa omentalis.

D. Excavatio rectovesicalis.

E. Right lateral canal.

The ulcer of anterior wall of stomach was diagnosed. Inflammation of what part of peritoneum is most possible?

A. Bursa hepatica.

B. Bursa pregastrica.

C. Bursa omentalis.

D. Right mesenteric sinus.

E. Left mesenteric sinus.

The perforation of ulcer of posterior wall of stomach was diagnosed at a patient 40 years old. To what anatomical formation the blood and content of stomach will get?

A. Bursa omentalis.

B. Bursa pregastrica.

C. Bursa omentalis.

D. Left lateral canal.

E. Bursa hepatica.

To the patient 50 years concerning a pancreatitis the resection of tail of pancreas is performed. It is necessary to know, that a pancreas situate:

A. Parenteral.

B. Mesoperitoneal.

C. Intraperitoneal.

D. Extraperitoneal.

E. Intramuraly.

In a patient with destructive appendicitis, as complication a subdiaphragmatic abscess appeared. In what formation of peritoneum does it locate?

A. Left lateral channel.

B. Bursa pregastrica.

C. Bursa omentalis.

D. Right lateral canal.

E. Bursa hepatica.

At a patient after an operation (stitching of penetrate wound of small intestine) an interintestinal abscess was formed, which drainage to right mesenteric sinus. Where can a purulent effluent spread in?

A. Stay in bounds of sinus.

B. To a small pelvis.

C. To the retrocecal recess.

D. Right lateral cannel.

E. Intersigmoid recess.

At acute destructive pancreatitis usually the inspection of omental burse is carry out because the pancreas is one of its wall. What wall?

A. Anterior one.

B. Superior one.

C. Posterior one.

D. Inferior one.

E. Left one.

At patient one of gangrenous form of acute pancreatitis is diagnosed. To what peritoneal spaces from below does the exudate spread?

A. Infrahepatic fissure.

B. Bursa omentalis.

C. Bursa pregastrica.

D. Left lateral canal.

E. Between the layers of anterior and posterior omental laminas.

At operative interference in an abdominal region a surgeon must get the omental bursa. How can a surgeon get in this part of cavity of peritoneum, without violating integrity of lesser omentum?

A. Through left paracolic sulcus.

B. Through right paracolic sulcus.

C. Through the omental foramen.

D. Through the right mesenteric sinus.

E. Through the left mesenteric sinus.

A man with closed trauma of the right part of abdomen and suspicion on the liver rupture was delivered to traumatic department. In what formations of peritoneum it is necessary to expect the collection of blood?

A. In an intersigmoid corner.

B. In the left lateral canal.

C. In the superior ileocecal angle.

D. In the rectovesical excavation.

E. In the omental bursa.

A patient with the traumatic splenic rupture, which needs an urgent operation, was delivered to a

surgical department. In what formation of peritoneum is it located?

A. Bursa hepatica.

B. Bursa pregastrica.

C. Burs omentalis.

D. Sinus mesentericus sinister.

E. Sulcus paracolicus sinister.

To victim with the punctured wound of anterior wall of stomach appealed for surgical help. To what formation of peritoneal cavity did the content of stomach get?

A. Left mesenteric sinus.

B. Omental bursa.

C. Hepatic bursa.

D. Pregastric bursa.

E. Right mesenteric sinus.

The victim got a knife wound in a right lumbar area. The damage of right kidney takes a place. What organs of retroperitoneal space can be damaged here?

A. Duodenum.

B. Transverse colon.

C. Left curvature of transverse colon.

D. Descending colon.

E. Initial part of ileum.

After the revision of peritoneal cavity with indication on peritonitis, the local abscess at the root of mesentery was found. In what formation of peritoneum it situate?

A. Left lateral canal.

B. Right mesenteric sinus.

V. Right lateral canal.

G. Intersigmoid fossa.

D. Left mesenteric sinus.

In man the perforation of ulcer of horizontal part of duodenum was revealed. In what area the inflammatory process will situate?

A. Omental bursa.

B. Left mesenteric sinus.

C. Right lateral channel.

D. Left lateral channel.

E. Right mesenteric sinus.

The abscess of the left lobe of liver in patient 48 years old was diagnosed. The generalization of inflammation can cause the peritonitis. Inflammation of what part of peritoneum will be observed?

A. Left mesenteric sinus.

B. Pregastric bursa.

C. Left mesenteric sinus.

D. Omental bursa.

E. Hepatic bursa.

The tumor of descending colon in man 69 years old was diagnosed. Peritonitis of what area of peritoneum will be observed in the case of destruction of tumor?

A. Omental bursa.

B. Right mesenteric sinus.

C. Left mesenteric sinus.

D. Pregastric bursa.

E. Hepatic bursa.

A patient was operated on indication of a trauma of liver with a bleeding to a hepatic bursa. What border prevents entering the blood in the pregastric bursa?

A. Right triangulate ligament.

B. Round ligament.

C. Coronary ligament.

D. Falciform ligament.

E. Right triangulate ligament.

The tumor of ascending colon in woman 65 years old was diagnosed. Peritonitis of what area of peritoneum will be observed in the case of destruction of tumor?

A. Right mesenteric sinus.

B. Left mesenteric sinus.

C. Hepatic bursa.

D. Pregastric bursa.

E. Omental bursa.

During the first feeding of newborn, milk began to flow out of a nasal cavity. What anomaly or abnormally got a newborn?

A. Cleft palate.

B. Cleft lip.

C. Atrezy of esophagus.

D. Atrezy of anal canal.

E. Esophageal-tracheal fistula.

A patient 32 years old appealed to the doctor with a complaint of disordered nasal breath, headache and frequent colds. Examination revealed the deviation of nasal septum and an operation was offered. What parts does a nasal septum have?

A. Cutaneus, cartilaginous, membranous.

B. Cutaneus, cartilaginous, bony.

C. Cartilaginous, membranous, bony.

D. Mucous, cutaneus, membranous.

E. Membranous, mucous, bony.

Mother of five-year boy, appealed to the hospital with complaints of disordered nasal breath of her child. Examination revealed hypertrophy of pharyngeal tonsil, which complicates an air exit from a nasal cavity. What openings of nasal cavity are closed at this disease?

A. Nostrils.

B. Choanes.

C. Nasolacrimal duct.

D. Pterygopalatine.

E. Hyghmory fissura.

Woman 55 years old, which 30 years worked in a chemical laboratory, appealed to the otorinolaryngologyst. She complains of lost of smell. The examination revealed atrophy of mucous membrane in regio olfactoria of nasal cavity. Where is it?

A. In the area of nasopharyngeal meatus.

B. In the area of middle nasal meatus and corresponding part of nasal septa.

C. In the area of inferior nasal meatus and corresponding part of nasal septa.

D. In the area of common nasal meatus.

E. In the area of superior nasal meatus and corresponding part of nasal septa.

A patient has inflammation of nasolacrimal duct. In what part of nasal cavity an infection can get?

A. Superior nasal meatus.

B. Inferior nasal meatus.

C. Middle nasal meatus.

D. Vestibule of the nasal cavity.

E. Ethmoido-sphenoidal corner.

A child 1.5 months refused off breast feeding. Examination revealed: a child is disquieted, the nasal breathing is disordered and there are insignificant mucous excretions from a nose. The temperature of body is normal. What anatomic features of structure of nasal cavity of children of early age can prevent the nasal breathing?

A. Incomplete development of paranasal sinuses.

B. Absence of inferior nasal meatus.

C. Narrowing of nasal meatuses.

D. Curvature of nasal meatuses.

E. Incomplete development of choanes.

In a patient with an acute respiratory viral infection a left-side highmoritis is diagnosed. From what anatomical formation did an infection spread?

A. Common nasal meatus.

B. Left superior nasal meatus.

C. Left inferior nasal meatus.

D. Left middle nasal meatus.

E. Cribriform plate of ethmoidal bone.

A 28 old patient appealed with complaints on the painful feelings in the root of the tongue during swallowing. After examination a foreign body between tongue and epiglottis was visualized. In what anatomical structure does the foreign body situate?

A. Piriform recess.

B. Foramen cecum linguae.

C. Epiglottic recess.

D. Pharyngeal recess.

E. Tonsillar fossula.

During examination of laryngeal cavity phoniatrist revealed the nodal formations of vocal folds. Between what formations are vocal folds situate?

A. Arytenoid and thyroid cartilages.

B. Arytenoid cartilages.

C. Thyroid cartilage and epiglottis.

D. Arytenoid cartilages and epiglottis.

E. Vocal and muscular processes of arytenoid cartilages.

The patient appealed to an otorinolaryngologyst with complaints of the change of voice. The examination revealed a tumor in bounders of posterior part of rima vocalis. Between what cartilages of larynx this department located?

A. Cartilago thyroidea.

B. Cartilago cricoidea.

C. Cartilago arytenoidea.

D. Cartilago corniculata.

E. Cartilago cuneiormis.

Patient A. 12 years old appealed in a hospital with complaints of a sudden cough and difficulty in breathing. At the X-ray investigation of respiratory organs, the presence of foreign body in the area of bifurcatio tracheae was exposed. On what level is a foreign body located?

A. S7-th1.

B. Th4-Th5.

C. Thl-Th2.

D. C6-C7.

E. Th6-Th8.

A six-month child has disorder of breathing in position on the back. The palpation revealed a tumor on anterior wall of the trachea in the region of jugular notch of sternum, which spreads to anterior mediastinum. What organ can compress a trachea?

A. Thymus gland.

B. Thyroid gland.

C. Parathyroid glands.

D. Parathyroid lymphatic nodes.

E. Paratracheal lymphatic nodes.

The patient 10 years old was delivered in clinic after swallowed a groundnut the day before, with continuous cough and symptoms of disorder of breathing. The function of phonation is in norm. Where can this foreign body situate most probably?

A. Left main bronchus.

B. Right main bronchus.

C. Trachea.

D. Vestiburlar folds.

E. Vocal folds.

During the lungs investigation a doctor inserted the bronchoscope into the one of lobar bronchus and saw that it divides into two segmental bronchi. What lobe of lung did a doctor provide manipulation in?

A. In the superior lobe of right lung.

B. In the middle lobe of right lung.

C. In the lower lobe of right lung.

D. In the superior lobe of the left lung.

E. In the inferior lobe of the left lung.

Mother of 3-years-old child appealed to the clinic. During conversation doctor clarified that child played with a small metallic object (a cufflink) and inserted it in mouth. The child had swallowed or had inhaled this subject. To find out it was not possible. At X-ray examination the foreign body was revealed at a level of 6-th thoracic vertebra on a middle line. Where, more credible than all, is there this foreign body?

A. In a pharynx.

B. In a trachea.

C. In an esophagus.

D. In the left main bronchus.

E. In the right main bronchus.

To patient with diagnose a cancer of left lung was performed an operation pneumonectomy (removing of the lung). One of stages of the operation is ligation and cutting a root of the lung, which includes arteries, veins and bronchus. In what order are these structures disposed in a root of left lung from up to down?

A. Pulmonary artery, pulmonary veins, main bronchus.

B. Pulmonary artery, main bronchus, pulmonary veins.

C. Main bronchus, pulmonary artery, pulmonary veins.

D. Main bronchus, pulmonary veins, pulmonary artery.

E. Pulmonary veins, main bronchus, pulmonary artery.

To a patient 60 years old the lobectomy of superior lobe of right lung was provided. What segments were damaged?

A. Lateral, middle, superior.

B. Apical, posterior, anterior.

C. Middle, basal and lateral basal.

D. Posterior basal, superior and inferior lingular.

E. Posteroapical.

To the patient 50 years old the lobectomy of superior lobe of right lung was provided. How many segments were removed?

A. 4.

B. 5.

C. 2.

D. 3.

E. 0.

A patient was hospitalized in clinic with a tumor of middle lobe of right lung. How many segments can be removed during this operation?

A. 3.

B. 2.

C. 4.

D. 5.

E. 1.

The left-sided segmental pneumonia is diagnosed at the patient. An additional respiratory noise (crepitation) is listened at the left side from the back surface, on the level of VII-X ribs. In what segment of lungs is the pathological process locates?

A. Inferior uvular.

B. Medial basal.

C. Lateral basal.

D. Anterior basal.

E. Posterior basal.

In 3 years old patient the lobectomy of middle lobe of right lung was provided. What segments were damaged?

A. Medial and anterior.

B. Apical, posterior, anterior.

C. Lateral and medial.

D. Posterior and lateral basal.

E. Posteroapical.

A patient was hospitalized in a clinic with complaints of cuffing with blood, hyperhydrosis. The X-ray revealed the tuberculosis focus in the superior lobe of the left lung. An operation was recommended. What is greatest quantity of segments can be removed in structure of the superior

lobe of left lung?

A. 5.

B. 6.

C. 3.

D. 2.

E. 1.

During the operation on lungs a surgeon removed a clot of blood from a horizontal fissure. What lobes of lung are separated by this fissure?

A. Inferior and middle lobes of right lung.

B. Superior and inferior lobes of right lung.

C. Superior and inferior lobes of left lung.

D. Superior and middle lobes of right lung.

E. Inferior lobes of right and left lungs.

The patient with knife wound of thorax on the right and pneumothorax (entering of air in a pleural cavity) was delivered to surgical department. By percussion was found the lower margin of right lung on a midclavicular line lifted up to level of the III rib. Where in a norm must it be?

A. V rib.

B. VII rib.

C. VIII rib.

D. IX rib.

E. VI rib.

The auscultation (hearing) of lungs revealed the segment with «bronchial breathing» in a patient 46 years old. Such respiratory noise is not listened at healthy people. The doctor made a conclusion that in the given segment there was a destruction of an alveolar tree. What anatomical structure doesn’t belong to the alveolar tree?

A. Intrasegmental bronchi.

B. Alveolar saccules.

C. Alveolar ducts.

D. Alveola.

E. Respiratory bronchioles.

During auscultation (hearing) of lungs of a patient 37 years old the “vesicular breathing” was marked. It is normal noise which listened to above the thorax of healthy people. This noise arises up in a bronchial tree and passed through a normally functioning alveolar tree. What anatomical structures do not concern to elements of a bronchial tree?

A. Terminal bronchioles.

B. Respiratory bronchioles.

C. Lobular bronchi.

D. Lobar bronchi.

E. Segmental bronchi.

At the sick child RDS (respiratory distress syndrome), connected with disturbances of surfactant production was revealed. The surfactant covers:

A. Walls of larynx.

B. Walls of trachea.

C. Alveolar walls.

D. Bronchi.

E. Bronchioles.

In the short-winded patient, X-ray exposed an exudation in a pleural cavity. To prevent injuring intercostal arteries, the puncture of pleural cavity should be provided (taking into account the level of exudation):

A. In the place of transition of bone part of rib in cartilaginous.

B. On the lower edge of overlying rib.

C. In the middle point between ribs.

D. At the head of rib.

E. To the upper edge of subjacent rib.

The patient appealed to the surgery with a tumor in lower third of esophagus. What serous layer of thoracic cavity can be damaged during the operation in this area?

A. Diaphragmatic pleura.

B. Left mediastinal pleura.

C. Right costal pleura.

D. Right mediastinal pleura.

E. Left costal pleura.

A patient 37 years old was delivered to pulmonology department with a diagnosis left-side exsudative pleuritis. What anatomical formation of pleura the inflammatory exudates will be collected more credible?

A. Costodiaphragmatic sinus.

B. Costomediastinal sinus.

C. Phrenicomediastinal sinus.

D. All enumerated.

E. Pleural cupula.

In patient right renal infarct was diagnosed. The damaging of parenchyma of kidney was caused by devascularization in the system of segmental artery. How many segmental arteries are present in right kidney in a norm?

A. 4.

B. 3.

C. 5.

D. 7.

E. 6.

In patient left renal infarct was diagnosed. The damaging of parenchyma of kidney was caused a devascularization in the system of arteries, passing through renal column. Name these arteries…

A. Segmental.

B. Interlobular.

C. Arcuate.

D. Interlobar.

E. Renal.

After a patient examination was revealed, that his right kidney is situated in iliac fossa (iliac kidney). This congenital dystopia is differentiated from the nephroptosis (falling kidney):

A. Absence of fibrous capsule.

B. Decreasing of pararenal adipose body.

C. Shape of kidney.

D. Anomalistic low position of kidney.

E. More caudal arising of renal artery from aorta.

A patient died from acute renal insufficiency (because of edema of kidney’s parenchyma). What layer of a kidney will be separated hardly from renal parenchyma during pathological anatomical dissection?

A. Renal fascia.

B. Fibrous capsule.

C. Adipose capsule.

D. Retroperitoneal fascia.

E. Preperitoneal fascia.

During the operation a stone 3x4 cm in size and having on one side 3 horn-shaped outgrowths (coral calculus) was removed from renal pelvis. What anatomic formations do these processes correspond?

A. Lesser calices.

B. Nephrons.

C. Greater calices.

D. Renal pelvis.

E. Lobules.

Excretory urogramma (contrasting of urinoexcretory ways) revealed wide sac-shaped renal pelvis, in which lesser calices empties, greater calices are absent. Specify the form excretory ways of a kidney.

A. Phylogenetic.

B. Fetal.

C. Mature.

D. Embryonic.

E. Ontogenetic.

Because of illness a middle-aged woman had acute fall thin. After some period a pain appeared in a lumbar area. A doctor diagnosed nephroptosis. Weakening of what fixative factors of kidneys led to this pathology.

A. Capsula adiposa.

B. Arteriae et venae renalis.

C. Capsula fibrosa.

D. Perinephrium.

E. Fascia endoabdominalis.

A pathologist made dissection of patient, dyed from long chronic disease of kidney. The dissection revealed congenital absence of one kidney. What diagnosis did a doctor?

A. Ren duplex.

B. Agenesia renis.

C. Distopia renis.

D. Ren arcuata.

E. Ren anularis.

A patient appealed in clinic with trauma of a kidney. During a surgical operation from the posterior approach, it is necessary to press a renal artery. What is the sequence of the elements of renal leg in its hilus from posterior to anterior one?

A. Artery, vein, ureter.

B. Artery, ureter, vein.

C. Ureter, artery, vein.

D. Vein, ureter, artery.

E. Vein, artery, ureter.

A patient 37 years old appealed to urology with a diagnosis a falling of the left kidney (nephroptosis). X-ray-contrast urography confirmed a preliminary diagnosis. What is the position of the left kidney concerning 12th rib in norm?

A. 12 rib is projected on the superior pole.

B. 12 rib crosses a kidney in the superior third.

C. 12 rib crosses a kidney in the inferior third.

D. 12 rib crosses a kidney in the middle.

E. 12 rib is project on the inferior pole.

A patient 28 years old appealed to nephrology with a diagnosis a falling of the right kidney (nephroptosis). X-ray contrast urography confirmed a preliminary diagnosis. What is norm position of the right kidney according to 12th rib?

A. 12 rib crosses a kidney in the inferior third.

B. 12 rib crosses a kidney in the superior third.

C. 12 rib crosses a kidney in the middle.

D. 12 rib is projected on the superior pole.

E. 12 rib is project on the inferior pole.

A patient appealed to urology with the preliminary diagnosis floating kidney (ren mobile). At X-ray contrast urography in vertical and lying position the displacement of the left kidney has been marked. At what level in norm there is a left kidney according to a vertebral column?

A. From inferior edge of 12 thoracic to the superior edge of 2 lumbar vertebras.

B. From inferior edge of 11 thoracic to the middle of 4 lumbar vertebras.

C. From the middle of 11 thoracic to the superior edge of 4 lumbar vertebras.

D. From inferior edge of 12 thoracic to the middle of 3 lumbar vertebras.

E. From the middle of 11 thoracic to the superior edge of 3 lumbar vertebras.

A patient 43 years old appealed to urologist with the preliminary diagnosis floating kidney (ren mobile). At X-ray contrast urography in vertical and lying position the displacement of the right kidney has been marked. At what level in norm there is a right kidney according a vertebral column?

A. From inferior edge of 12 thoracic to the middle of 4 lumbar vertebras.

B. From inferior edge of 11 thoracic to the middle of 3 lumbar vertebras.

C. From inferior edge of 11 thoracic to the superior edge of 1 lumbar vertebra.

D. From inferior edge of 12 thoracic to the superior edge of 2 lumbar vertebras.

E. From the middle of 11 thoracic to the superior edge of 3 lumbar vertebras.

A patient has a urolithiasis. During removing the concrement from the right ureter a surgeon cut the wall of ureter. In what anatomical formation the urine will get?

A. Retroperitoneal space.

B. Right mesemteric sinus.

C. Pectovesical excavation.

D. Prevesical space.

E. Right lateral canal.

A patient 65 years old was operated on indications of the tumor of ureter. During operation it is revealed, that the tumor extended to mesentery of small intestine. What part of ureter is affected with a tumor?

A. Intraorganic.

B. Pelvic.

C. Abdominal.

D. Intrarenal.

In patient the stone in the place of transition of the left renal pelvis to ureter was revealed. What structure situate anteriorly to the initial part of the left ureter?

A. Sigmoid colon.

B. Stomach.

C. Ileum.

D. Spleen.

E. Pancreas.

During the removing of right ovary a surgeon instead of ovarian artery bandaged a near located organ. Which one?

A. Ureter.

B. Thoracic duct.

C. Aorta.

D. Common iliac artery.

E. Internal iliac artery.

A patient appealed to the doctor with a complaint of sharp attacks of a pain in a right lumbar area. The examination revealed obstruction of right ureter by stone between its abdominal and pelvic parts. What is anatomical border between these two parts?

A. Linea semilunaris.

B. Linea terminalis.

C. Linea arcuata.

D. Linea transversa.

E. Linea inguinalis.

An urolithiasis was complicated by the exit of concrement from the kidney. On what level of ureter can it stop most probably?

A. 2 cm superiorly to the inflow to a urinary bladder.

B. In a renal pelvis.

C. In middle abdominal part.

D. On the border between abdominal and pelvic parts.

E. 5 cm superiorly to pelvic part.

In patient the presence of stone in the place of transition of right renal pelvis to the ureter was revealed. Behind what structure does the initial part of the right ureter situate?

A. Colon ascendens.

B. Flexura coli dextra.

C. Pars descendens duodeni.

D. Pars superior duodeni.

E. Pars horizontalis duodeni.

During a cystoscopy a doctor revealed changes of mucous membrane of urinary bladder in the area of «triangle». In what part of urinary bladder is this triangle?

A. Body.

B. Isthmus.

C. Apex.

D. Collumn.

E. Fundus.

A patient 65 years old was hospitalized with suspicion on the tumor of prostate. During an operation it is revealed, that the tumor «germinated» to a urinary bladder. What department of urinary bladder suffered?

A. Neck.

B. Apex.

C. Fundus.

D. Body.

E. Triangle.

It is possible to perform a puncture of urinary bladder through anterior abdominal wall, not affecting a peritoneum. When?

A. When the bladder is empty.

B. When the bladder is full (stretched), when it is covered mesoperitoneally.

C. Only in male.

D. Only in female.

E. Only in children.

A man has a tumor of posterior wall of urinary bladder. What organs can be engaged in a process?

A. Rectum, prostate gland.

B. Prostate gland.

C. Rectum, seminal vesicles, ampule of ejaculatory duct.

D. Male urethra.

E. Cowper’s (bulbourethral) glands.

A 65 years old man appealed to doctor with acute retention of urine. The examination revealed an obstructtion of urethra, which was caused by pathology of organ surrounding it. What is this organ?

A. Spermatic cord.

B. Testicle.

C. Seminal vesicles.

D. Prostate gland.

E. Epidydimis.

A patient was hospitalized with suspicion on the tumor of prostate. During an operation it was exposed, that a tumor «germinated» to the middle department of urethra. What is it a department?

A. Lacunar.

B. Prostatic.

C. Spongy.

D. Cavernous.

E. Membranous.

During examination in a newborn boy was found that the orifice of urethra is open on the lower surface of penis. What anomaly of development is it?

A. Hypospady.

B. Hermaphroditism.

C. Epispady.

D. Monorchism.

E. Cryptorchism.

A young man appealed to the hospital with complaints of disturbances of urination. It was revealed, that a urethra is split above and urine flows out through this opening. What type of anomaly of development is observed in this case?

A. Paraphimosis.

B. Phimosis.

C. Hermaphroditism.

D. Epispadiya.

E. Hypospadiya.

A patient 20 years old appealed to the policlinic with complaints of burning and purulent excretions during urination. For confirmation of diagnosis the bacterial inoculation from a urethra is appointed. Doctor doing this inoculation, takes mucus from a navicular fossa. In what part of urethra is this fossa located?

A. Cavernous.

B. Spongy.

C. Prostatic.

D. Membranous.

E. Bulbar.

During the catheterization of male urethra a mucous membrane was injured. In what part of urethra is the damage of it most possible?

A. Pars cavernosa.

B. Pars spongiosa.

C. Pars membranacea.

D. Pars prostatica.

E. Pars bulbaris.

A man 75 years old entered urology department with complaints of the expressed pain at the hypgastric region, absence of urine, impossibility of urination. At examination an urologist revealed a diagnosis: adenoma (benign tumor of prostate gland). The catheterization of urinary bladder was indicated. What is the sequence of passing of catheter through the parts of urethra?

A. Membranous, prostatic, spongy.

B. Spongy, prostatic, membranous.

C. Membranous, spongy, prostatic.

D. Prostatic, membranous, spongy.

E. Spongy, membranous, prostatic.

For the boy of 2 years a scrotal hernia is diagnosed. Abnormality of what testicular membrane does lead to this pathology?

A. Tunica dartos.

B. Fascia cremasterica.

C. Fascia spermatica externa.

D. Tunica vaginalis testis.

E. Fascia spermatica interna.

A domestic pair complains of impossibility to have children. It is exposed after an inspection –the spermatogenetic epithelium of testicle is damaged, that resulted in absence of spermatozoa in a seminal liquid and as a result – to fruitlessness. What department of semen excretory ways did suffer?

A. Tubuli seminales convoluti.

B. Tubuli seminales recti.

C. Rete testis.

D. Ductus epidydimis.

E. Ductus deferens.

For a man 40 years inflammation of testicle was complicated by hydrocele. Operative treatment is needed. What from the suits of testicle does a surgeon cut the last during an operation?

A. Fascia spermatica interna.

B. Tunica dartos.

C. Lamina parietalis tunicae vaginalis testis.

D. Musculus cremaster.

E. Fascia spermatica externa.

At examination of a newborn boy a surgeon exposed absence of the left testicle in a scrotum (monorchizm). In what age must a testicle be in a scrotum in norm?

A. Till one year.

B. To moment of birth.

C. Till three years.

D. Till five years.

A. Till seven years.

A man 40 years old appealed a doctor with complaints of the presence of painful tumor in area of scrotum. A doctor diagnosed is hydrocele of testicle. Between what suits of testicle does a liquid accumulate at this disease?

A. Between external seminal fascia and fascia of cremaster muscle.

B. Between a skin and tunica dartos.

C. Between a tunica dartos and external seminal fascia.

D. Between the parietal and visceral lamina of vaginal tunic.

E. Between internal seminal fascia and vaginal tunic.

For a newborn boy at examination in a right half of scrotum a testicle it is not found . What anomaly of development does speech go about?

A. Epispadia.

B. Hermaphroditism.

C. Hydrocele.

D. Hypospadia.

E. Monorchizm.

After trauma of testicle and hemorrhage the coiled seminal tubuli in a parenchyma are damaged. What function of testicle is destroyed?

A. Erection of penis.

B. Spermatogenesis.

C. Excretion of sperms.

D. Production of liquid part of sperm.

E. All mentioned.

For the patient of 53 years old after a wound of perineal region involuntary urination is marked. What of muscles is damaged?

A. M. sphincter urethrae.

B. M. ischiocavernosus.

C. M. bulbospongiosus.

D. M. transversus perinei superficialis.

E. M. transversus perinei profundus.

Some time after the trauma of perineal region a patient have the phenomena of impotence. What muscle was damaged?

A. M. levator ani.

B. M. sphincter urethrae internus.

C. M. sphincter urethrae externus.

D. M. bulbospongiosus.

E. M. ischiocavernosus.

Ultrasonic research of organs of lesser pelvis is carried out at a full urinary bladder. What does perineal muscle retain the urine?

A. M. bulbospongiosus.

B. M. sphincter urethrae.

C. M. ischiocavernosus.

D. M. transversus perinei superficialis.

E. M. transversus perinei profundus.

During a childbirth at difficult exiting of head of child to avoid the perineal rupture they usually make the section of vagina opening at base of labia majora. What perineal muscle is dissected here?

A. M. transversus perinei superficialis.

B. M. ischiocavernosus.

C. M. bulbospongiosus.

D. M. sphincter ani externus.

E. M. transversus perinei profundus.

A patient has inflammation of bulbourethral glands. Between what perineal fascia are these organs?

A. Fasciae diaphragmatis pelvis inferior et superior.

B. Fasciae perinei superficialis et diaphragmatic urogenitalis inferior.

C. Fasciae diaphragmatis urogenitalis superior et diaphragmatis pelvis inferior.

D. Fasciae diaphragmatis urogenitalis superior et inferior.

E. Fasciae perinei superficialis et diaphragmatis pelvis inferior.

During operation of deleting of uterus with ovaries and ovarian tubes a doctor bandages Ligaments which suspend ovaries. What vessels were bandaged by a doctor in this ligament?

A. Ovarian artery and vein.

B. Uterine artery and vein.

V. Tubular artery and vein.

G. Internal iliac artery.

D. Internal iliac vein.

During operation on an ovary vessels were bandaged in area of hilus. In what department of ovary does conduct manipulation?

A. Facies lateralis.

B. Margo liber.

C. Facies medialis.

D. Margo mesovaricus.

E. Extremitas uterinus.

At a woman the tumor of ovary was found out. An operation is indicated. What ligament must a surgeon cut to separate an ovary from uterus?

A. Broad ligament of uterus.

B. Lig. suspensorium ovarium.

C. Lig. ovarium proprium.

D. Lig. umbilicalis lateralis.

E. Rounded ligament of uterus.

At a woman extra-uterine pregnancy was found out. In what organ did the impregnation of ovule and its development happen?

A. Vagina.

B. In an ovary.

C. In the body of uterus.

D. In the neck of uterus.

E. In a salpinx.

A patient 35 years old entered obstetric department with the symptoms of “acute abdomen” and suspicion on extra-uterine pregnancy. Where will blood accumulate at the rupture of salpinx?

A. In a vesicouterine cavity.

B. In a rectouterine cavity.

C. In a rectovesical cavity.

D. In a right lateral canal.

E. In the left lateral canal.

X-ray research of uterus with introduction of contrasting matter (metrosalpingography) is provided to a 26 years old woman. What shape does shade of uterine cavity have on a roentgenogram in a norm?

A. Form of Latin letter «V».

B. Oval.

C. Triangle with protuberant sides.

D. Triangle with concave sides.

E. Piriform (pear-shaped).

During a few years of domestic life a woman unsuccessfully tried to become a pregnant and finally appealed after consultation to the gynecologist. Histerographia showed that uterus has two horns, and to it the its sterility is related. This congenital vice is a result of:

A. Disorder of confluence of paramesonephral canals.

B. The «cellular death» in the area of fundus uteri.

C. Disorder of confluences of mesonephral canals.

D. Creature of septum in the area of fundus uteri.

E. Disorder of process of recanalization.

During operation of removing of uterus a doctor bandages a uterine artery which passes between the layers of broad ligament of uterus. It is necessary to remember that a ureter passes near uterine artery, where exactly?

A. Above.

B. In front of.

C. Behind.

D. Below.

E. Laterally.

At vaginal research of woman a gynecologist examines the ostium uteri. What anatomical structures do form him?

A. Body of uterus and anterior wall of vagina.

B. Collum uteri and anterior wall of vagina.

C. Anterior and posterior walls of vagina.

D. Collum uteri and posterior wall of vagina.

E. Anterior and posterior lips of neck of uterus.

Patient 45 years old was hospitalized with suspicion on the malignant tumor of uterus. After an inspection, a diagnosis is set: fibromyoma uteri. In what layer of uterus does this tumor take a place?

A. Myometrium.

B. Endometrium.

C. Perimetrium.

D. Parametrium.

E. Peritoneum.

The inflammatory process of the modified subserous base around the neck of uterus caused an intensive pain symptom. The pathological process of what area of genitals was set by a doctor?

A. Parametrium.

B. Mesometrium.

C. Myometrium.

D. Endometrium.

E. Perimetrium.

During gynecological inspection a patient the diagnosis of endometritis (inflammation of endometrium) was set. What part of uterine wall is involved to an inflammatory process?

A. Muscular.

B. Adventicia.

C. Serous.

D. Mucous.

E. Paremetrium.

Woman 32 years old appealed to the gynecologist and asked to insert an endometrial contraceptive. Doctor, making manipulation without the observance of rules of asepsis brought in an infection in the cavity of uterus. What type of inflammation more credible will develop at woman?

A. Perirectitis.

B. Idiometritis.

C. Parametritis.

D. Metroperitonitis.

E. Endometritis.

At vaginal research of woman a gynecologist examines the anterior fornix of vagina. What anatomic structures do form him?

A. Collum of uteruses and anterior wall of vagina.

B. Anterior and back walls of vagina.

C. Collum of uterus and posterior wall of vagina.

D. Anterior and posterior lips of neck of uterus.

E. Body of uterus and anterior wall of vagina.

At the inspection of external genital organs of a woman a gynecologist diagnosed: bartolinitis (inflammation of Bartoliny’s glands). Of what anatomical structure is the pathology?

A. Small vestibular glands.

B. Vestibular bulb.

C. Large gland of vestibule.

D. Glands of urethra.

E. Lacuns of urethra.

At a little girl inflammation of peritoneal cavity in the area of small pelvis (pelvioperitonitis) was diagnosed. Through what anatomical structure did a pathogen agent get from an external environment to the place of inflammation?

A. Ostium vaginae.

B. Ostium urethrae externum.

C. Ostium urethrae internum.

D. Ductuli glandulae vestibularis major.

E. Canalis analis.

A patient entered gynecological department with suspicion on the internal bleeding (extra-uterine pregnancy). Through what structure do usually puncture for the urgent diagnostic of bleeding?

A. Uterine orifice.

B. Anterior fornix of vagina.

C. Collum uteri.

D. Posterior fornix of vagina.

E. Anterior wall of vagina.

At a woman with extra-uterine tubar gravidity the puncture of posterior fornix of vagina is performed. What anatomic formation of peritoneum must a needle get to?

A. Left mesenteric sinus.

B. Right mesenteric sinus.

C. Recto-uterine pouch.

D. Right lateral canal.

D. Vesico-uterine pouch.

The patient 23 years old entered gynecological department with complaints on the massive edema of labia minora and purulent excretion near their base in a vestibule of a vagina nearer to the posterior comissure. About inflammation of what glands of genital organs it is necessary to think:

A. Large glands of vestibule (Bartoliny’s).

B. Bulbouretral (Cowper’s).

C. Prostatic.

D. Small glands of vestibule.

E. Cervical.

During operation of deleting of uterus with ovaries and ovarian tubes a doctor bandages Ligaments which suspend ovaries. What vessels were bandaged by a doctor in this ligament?

A. Ovarian artery and vein.

B. Uterine artery and vein.
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D. Internal iliac vein.
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B. Margo liber.
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E. Extremitas uterinus.
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A. In a vesicouterine cavity.
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C. In a rectovesical cavity.
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E. In the left lateral canal.

X-ray research of uterus with introduction of contrasting matter (metrosalpingography) is provided to a 26 years old woman. What shape does shade of uterine cavity have on a roentgenogram in a norm?

A. Form of Latin letter «V».

B. Oval.

C. Triangle with protuberant sides.

D. Triangle with concave sides.
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During a few years of domestic life a woman unsuccessfully tried to become a pregnant and finally appealed after consultation to the gynecologist. Histerographia showed that uterus has two horns, and to it the its sterility is related. This congenital vice is a result of:

A. Disorder of confluence of paramesonephral canals.

B. The «cellular death» in the area of fundus uteri.

C. Disorder of confluences of mesonephral canals.

D. Creature of septum in the area of fundus uteri.

E. Disorder of process of recanalization.

During operation of removing of uterus a doctor bandages a uterine artery which passes between the layers of broad ligament of uterus. It is necessary to remember that a ureter passes near uterine artery, where exactly?

A. Above.

B. In front of.

C. Behind.

D. Below.

E. Laterally.

At vaginal research of woman a gynecologist examines the ostium uteri. What anatomical structures do form him?

A. Body of uterus and anterior wall of vagina.

B. Collum uteri and anterior wall of vagina.

C. Anterior and posterior walls of vagina.
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E. Anterior and posterior lips of neck of uterus.

Patient 45 years old was hospitalized with suspicion on the malignant tumor of uterus. After an inspection, a diagnosis is set: fibromyoma uteri. In what layer of uterus does this tumor take a place?

A. Myometrium.

B. Endometrium.

C. Perimetrium.

D. Parametrium.

E. Peritoneum.

The inflammatory process of the modified subserous base around the neck of uterus caused an intensive pain symptom. The pathological process of what area of genitals was set by a doctor?

A. Parametrium.
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During gynecological inspection a patient the diagnosis of endometritis (inflammation of endometrium) was set. What part of uterine wall is involved to an inflammatory process?

A. Muscular.
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C. Serous.

D. Mucous.

E. Paremetrium.

Woman 32 years old appealed to the gynecologist and asked to insert an endometrial contraceptive. Doctor, making manipulation without the observance of rules of asepsis brought in an infection in the cavity of uterus. What type of inflammation more credible will develop at woman?

A. Perirectitis.

B. Idiometritis.
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A. Collum of uteruses and anterior wall of vagina.

B. Anterior and back walls of vagina.

C. Collum of uterus and posterior wall of vagina.
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At the inspection of external genital organs of a woman a gynecologist diagnosed: bartolinitis (inflammation of Bartoliny’s glands). Of what anatomical structure is the pathology?

A. Small vestibular glands.

B. Vestibular bulb.

C. Large gland of vestibule.

D. Glands of urethra.

E. Lacuns of urethra.

At a little girl inflammation of peritoneal cavity in the area of small pelvis (pelvioperitonitis) was diagnosed. Through what anatomical structure did a pathogen agent get from an external environment to the place of inflammation?

A. Ostium vaginae.

B. Ostium urethrae externum.

C. Ostium urethrae internum.

D. Ductuli glandulae vestibularis major.
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A patient entered gynecological department with suspicion on the internal bleeding (extra-uterine pregnancy). Through what structure do usually puncture for the urgent diagnostic of bleeding?
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A. Left mesenteric sinus.
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D. Right lateral canal.
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The patient 23 years old entered gynecological department with complaints on the massive edema of labia minora and purulent excretion near their base in a vestibule of a vagina nearer to the posterior comissure. About inflammation of what glands of genital organs it is necessary to think:

A. Large glands of vestibule (Bartoliny’s).

B. Bulbouretral (Cowper’s).

C. Prostatic.

D. Small glands of vestibule.

E. Cervical.

Literature for final level of the knowledge:

а) basic

1. Gray's Anatomy for Students / Richard L. Drake Ph.D, A. Wayne Vogl, Adam W.M. Mitchell, - 2010, 2092 p.

2. Clinically Oriented Anatomy / by Keith L. Moore, Anne M. R. Agur, 2013.

3. Atlas of Human Anatomy / Frank H. Netter,- 5 edition, - 2011 by Saunders, an Imprint of Elsevior Inc.

4. Guidance for practical classes on Human Anatomy / Borys Y. Reminetskyy, Yaroslav I. Fedonyuk, Volodymyr D. Voloshyn. - Ternopil, Ukrmedknyha. - 2003, 203 p.

5. Materials preparation for lectures

6. Materials preparation for practical classes

b) additional

1. Lecture.

2. Human anatomy & physiology / Elaine N. Marieb, Katja Hoehn., San Francisco : Benjamin Cummings, 2010., 8th edition.

3. W. Kahle, H. Leonhardt, W. Platzer. Colour atlas and Textbook of Human Anatomy. – Stuttgart, New York, 1986.

4. Synelnіkov R.D. The atlas of anatomy of the human. Іn 4-th volumes. -: Medіcіna, 1991.

Methodical instructions have been prepared by: I.V. Prus, Assistant.

